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Part III — POLITICAL SCIENCE

( English Version )

Time Allowed : 3 Hours ] - [ Maximum Marks : 200

PART - A
Note: 1) Answer all the questions.
i) All questions carry equal marks.

I. Choose and write the correct answer in your answer-book : 20x1=20

1.

The welfare state ideal took strong root in

a) India b) England

3

c) France d) America.

Which one of the following years in considered as the date of origin of the
Greek city states ? :

-a) 1000 BC b) 500 BC

c) 1000 AD d) 337 AD.

Social Contract theory found the support of

a) Jenks b) Morgan

c) Rousseau | I d) Sir Henry Maine.
Paying Income Tax signifies

a) Traditional authority b) Rational-legal authority
c) Charismatic authority d) All of these.
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5. Globalisation mainly signifies

a) Economic infeg‘ration b) Political integration
c) Social integration d) All of these.
6. National sovereignty has been challenged by
a)’ G- 8 Nations
b) = European Union
c¢) International financial institutions
d) G - 77 Nations.
7. Which country follows the collegiate form of Government ?
a) India b) England
c) USA. d) Switzerland.
8. The term ‘federation’ is derived from which word ?
a) Latin b) French
¢) Hindi d) Sanskrit.
9. In which of the following countries is Judicial Review practised ?
a) USA. b) Canada
c) India d) All of these.
10. The system of popular election of judges was first introduced in
a) India b) France

c) England ' d) Japan.



11.

12.

13.

14.

15.

16.

17.
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Forty Second Amendment Act came into force in the year

a) 1947 b) 1976

c) 1967 d) 1950.

Rajya Sabha consists of

a) 220 members b) 230 members

¢) 250 members d) 200 members.
Who is the administrative head of a department in the Secretariat ?
a) Secretary b) Mayor

c) Commissioner d) Governor.

The President of the Constituent Assembly after 1947 was

a) Nehru b) Dr. Radhakrishnan

c) Dr. Rajendra Prasad d) Gandhi.

The number of houses in Tamil Nadu Legislature is

2l .l b) 2.

c) 3 d) 4.

The tenure of the Municipal Corporation Mayor is ...........c......c. years.
a) three b) four

c) five _ d) six.

The Governors of the States are appointed by the

-a) Chief Minister b) President

c) High Court Judge d) District Collector.
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18. The period of the State Legislature of Jammu and Kashmir is

21.

22.

24.
25.

26.
27.

28.
29,

30.

a) 3 years b) 4 years
c) b years d) 6 years.

19. Indiajsthe......c.coommevnns largest country in terms of populatiqn.
a) first b) second
c) third d) fourth.

20. The backbone of Indian economic development is
:a) agriculture - b) hidustries
c) science and technology d), human resource.

II. Fill in the blanks : 10x1=10

The modern state is a ........eveenenen.. s

-------------------

was the first scientific writer who gave a logical exposition of

the theory of Social Contract.

Types of Authority is explained by ................... ¢

...................

describes that ‘Indian culture is a very strong culture’.

Lower House of the Parliament is known as ................... .

Montesquieu, a French writer, published his book called ........ L in the

year 1748.

The Chief Justice of India and judges of Supreme Court are appointed by

BB iitinesss

------ .

The head of the district administration is ......o............ 5

74™ Amendment Act was enacted in the year ...... S s :

The Constitution of India came into force on .........cc.c....... :
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Write whether the following statements are True or False : 10x1=10

31. The State occupies the most important place among all social institutions.

32. The City States of Greece did not follow the direct democracy.

33. Evolutionary theory is merely scientific.

34. Normative political science is value-free.

35. India is a member of European Union.

36. Senate is the upper house of the congress of U.S.A.

37. Judicial review is an important contribution of U.K.

38. Cabinet ministers attend the meetings of the Cabiﬁet and take the major
policy decisions.

39. Townships are entirely planned.

40. National Rural Employment Programme was launched in 1980 by
Government of India.

Match the following : 10x1=10

41. Feudalism a) Multinational Corporation

42. Matriarchal theory b) 1951

43. Presidential form of Government c) Germany

44. Hitler d) Jammu and Kashmir

45. Parliamentary system e) Glimpses of World History

46. Coca-Cola f) Zamindari system

47. Article 370 @ England

48. Commissioner ' h) McLenan

49. Jawaharlal Nehru ' 1)  America

50. Gorwala Committee j) The chief administrator of the -

| ~ corporation.
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51.
52.

53.

54.
55.
56.
57.
58.

59.

61.

62.

64.

65.

6
PART - B
Note : i) Answer any ten questions.
ii) All questions carry equal marks. :
i) Answer for each question should not exceed 50 words.
10x3 =30

Define city state.
What are the theories which explain the origin of the state ?

What are the professional associations that helped Political Science as a

professional pursuit ?

What is Knowledge Society ?

Explain ‘Open Economy’.

Define federal government.

Define judicial review..

What are the special features of the Constitution of India ?
List out the powers of the Governor.

Write a short note .on Prime Minister.

Write a short note on the Village Administrative Officer.
Write a short note on Balwantrai Mehta Report.

Name the corporations in Tamil Nadu.

Explain adult franchise.

Describe the Agricultural Policy of India.



66.

67.

68.

69.

70.

71.

72.

73.

74.
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PART - C

Note: i) Answer any six questions.
ii) All questions carry equal marks.

ili) Each answer should be in about a page.

Explain the rise of feudal state.
Explain Sir Henry Maine theory.

Explain the meaning of power.
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6 x10 =60

Explain the distinction between unicameral and bicameral legislatures.

What is the need for a judiciary ?

What are the features of Cabinet ?

What are the jurisdictions of the High Court ?
Explain ‘Cantonment Board'.

Write any ten compulsory functions of Village Panchayat.

PART -D

Note: i) Answer all the questions.
ii) Al questions carry equal marks.

iii) Answers should be in about two pages each.

75. Write an essay on Welfare State.

OR

3 x20 =60

What are the factors which influenced the Social Contract theory ?
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76.

77.

8
Describe the features of Parliamentary form of Government.

OR

List out the functions of Corporation.

Discuss the powers and functions of the Governor.
OR

List out the functions of Municipalities.




